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QUESTION 1

In Huawei FunsionCompute, the incorrect description of virtual machine migration is
A. The communication between the source host and the destination host is normal
B. destination storage for different storage devices

C. virtual machine status is "running"

D. destination host must have sufficient resources

Correct Answer: C

QUESTION 2

Which device in the physical network is capable of routing and forwarding?
A. Hub

B. Layer 2 switch

C. Router

D. Physical server NIC

Correct Answer: C

QUESTION 3

Virtualization is divided into computing virtualization, storage virtualization and network virtualization, corresponding to
cloud computing cloud host, cloud storage, cloud network

A.yes
B. wrong

Correct Answer: A

QUESTION 4

The following description about the differences between physical switches and virtual switches is incorrect
A. virtual switch runs on a physical server, and the physical switch has separate hardware

B. The virtual switch cannot operate on the VLAN tag, and the physical switch can operate on the VLAN tag

C. A virtual switch cannot be configured with a Layer 3 interface, and a physical switch can be configured with a Layer 3
interface
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D. Virtual switches also require certain hardware resources for their normal operation

Correct Answer: B

QUESTION 5

The following incorrect description of virtualization is (multi-select)
A. network virtualization refers to distributed virtual switches

B. Storage virtualization refers to distributed storage

C. In cloud computing, laaS layer virtualization can be divided into computing virtualization, storage virtualization, and
network virtualization

D. Computing virtualization includes CPU virtualization, memory virtualization, and IO virtualization

Correct Answer: AB
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